Dawson College: Linear Algebra (SCIENCE): 201-NYC-05-S7: Fall 2022: Quiz 1 name:

Books, watches, notes or cell phones are not allowed. The only calculators allowed are the Sharp EL-531#*, You must show all your work, the correct answer is worth 1 mark the remaining marks are given for the work.

Given the linear system

X1 +2x+ x3+3x4=4
2x1+3x04+3x3+4x4 =7
—x14+ xp—4x3+3x4=-1
3x1+5x) +4x3+Txg =11

a. (4 marks) Apply Gauss-Jordan elimination on the augmented matrix of the above system.
b. (2 marks) Find the solution set of the above system.
¢. (2 marks) Find a particular solution for which x; = —4, and x, = 8.
d. (3 marks) If the augmented matrix of the above system is the coefficient matrix of a homogeneous system, find its solution set.
a) N I TR b)
2 3 3 Y A R|+({3—>p‘ 0 3 -3 6 3 Xq:t
s ARy -
‘5 5 Y 7 1 ‘3”1" v .1 06} ) I -2 -] Xp"'l”f*}'t
L= 1+s5-2t
QR,J'RF')R\ 1 0 3 "' 2
~ ~R1—>ﬂ1 O !~ 21 o'b (x,,x.,x,,x.]
Wikok o o 0 0 0 = (2ot 145731, 5, ¢)
"Rzi-Rq_’va v 0 0 0 0 °
q) ~q =235+t )y ~é=-35+t I -2 7J~ R+ R,-R [é :? pt,{]
~ -2 71
d) 11 ) 3 H 0 ’-;‘kz"”kz o I ~?
233470 ~ HRatRR[1 0
s' ' ‘q 3 ~l o o ‘ ~3
o° sz, t=-3
o 3 -1 20 ”
Noeo A |© I~ 210 000 (%), X, %3, X)) = [a—’)ll)“’i,l-l'"’('?))’;”)
0Ooo0 0000 =(-4,8,1,-3
oo 0 600

. ((
a (yinty Gaves— Tedlon we
Wyﬂnj sam e resvil as lhte
atvix of a) for thte

- f fre W.mgmwv?
f," ’ Swmce tht additiena

ve
Qv W\thcd m
cottfratal WO

1 X
pugmenfed maly does no
“zs hw-[ colvwn of 2V .,
efful the lo-mcm. PR L +t .
L(.‘t )(.;—’5 {- ,[m 00 X2* s-lf f,ﬁ
t 5. 4 _ 6 $ t,r
) e X3* ’
%" Yur



